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A gold bar is in the shape of a right triangular prism with AB = 80mm, CD = 120mm
and ACB=40°.
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(a) Find the length AC. [2]
(b) Find the length BC. [2]
(c) Show that the area of triangle ABC is 3810mm?, correct to 3 significant

figures. (2]
(d) (i) Find the volume of the triangular prism. [2]
(ii) Write your answer in the form ax10*, where 1<a<10 and keZ. [2]

The density of gold is 0.01932 g-mm™. Gold is $0.02791 per gram.

(e) Find the mass of gold contained in this gold bar. [2]
(f) How much money is the gold bar worth. [2]
(g) Find total surface area of the gold bar. [3]

(17 marks)




Review of
Right Angled Trigonometry
Non-Right Angled Trig,
Coordinate Geometry

Attached are 14 problems from the three curriculum topics above. You should have
previous exposure to all of these topics but it will be good for you to review using
them.

The first 11 problems are Exam Paper 1 Type Questions where you do your work on
the sheet itself. The last three questions are Exam Paper 2 Type Questions where

you show all of your work on separate paper including diagrams.

Keep you IB Formula sheet handy!

Work on them in class and outside of class for the next two class periods. The
packet will be due on Tuesday, October 17t, We will start the next unit, Sets/Venn
Diagrams and Probability on Monday so you should be mostly finished by the
weekend.

They will be turned in as a packet, not as part of the normal HW packet.

They will be graded on completion and details shown in your work, not for the
correct answer. Do them with the intent of reviewing and learning, not just to get
them done.

A few of these questions, or ones like them, will be on the next test.

Answers will be available to check as you go.
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‘ @\?\‘a‘ The following diagram shows the rectangular prism ABCDEFGH. The length is 5 cm, the width
is 1 cm, and the height is 4 cm.
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(2) Find the length of [DF]. /2 marks]

(b)  Find the length of [CF]. [2 marks]
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Right triangle LMN has angle LMN = 60° and LN = 13.7mm.

dlagram not to scale

)8 - (LS+a0") = 30

(a) Write down the the size of angle MLN. [1]
(b) i) Calculate the length MN. [2]
ii) Convert the length MN to cm. [1]

Yusaf estimated the length MN to be 0.9cm.

(c) Find the percent error of Yusaf's estimation. [2]
Working...... B Va -Vg
X 137Tmm - ~\"‘E"‘" xJ0O7/
513N T
» 0.9 - 074 (x),/’
Sin(L0) X = L.8S T o.94) ‘ x|
5 1n(9) Sin(¥0)
xX= 77.9) | s 213,78 /-

() ) TN mm
14 mm xA= = 0,179
i) 0.7 o 1o
() 13.8 7/

(6 marks)




Cridbingne

www.inthinking.co.uk
N e - J

The square-based pyramid below has sides of length 10m and a height of 20m.
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P&F d!ngrnmnotmscale. ’01*‘01_—_ DFZ
0m 2o = D\F_z
o
.07 ) DF= MM
-207_'-7‘0'72 :AF‘Z Y 10m 2
g dgHa = AF® [ MF = 7.07
.-——_._ _{___, 10m
(AF=2).2m
(a) Find the length AF. [4]
(b) Find the measure of angle AFM. [2]
Working......
NZm 207
70m sin (A0) 7 sin (%)

Sin(40)-20 = 2zV2 - sin(x)

20 = 242 swlx)
1 212

5‘.an)= 0-943
Sin- sin’
X= T70.°

(a) AF = 202 wm

b) _AFM = -5°

(6 marks)
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Ques

A right pyramid has apex A and rectangular base WXYZ. The vertical height of the
pyramid is AM.

AMZ + |77 = O

AM? 4289 = 30O

“789 189 -
\ 1 diagram not to scale
LOM A2 =mv
AM 3074l % M
N SL =My 7
1T m _ “
g MY=34 _
= =1m
X
(a) Calculate AM. [4]
(b) Find the volume of the pyramid. [2]
Working...... \(: _l3 Ah A= ouea of bause
A= 30m XL ny

V= 54g0-ST.S

/f’_/_ﬂ A= H¢O m

jy=9200m |

h=Am
h=57.5m
@ _AM=S57.5m
(b) _ 94200 m?
(6 marks)
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Below is the diagram of a cone shaped tent. Angle NPX is 16°, the slant height of the

cone is 3.3m.

dlagram not to scale

0
M N

Aright circular cone

(a) Find the radius of the cone. X N
(b) Find the vertical height of the cone.

(c) Find the volume of the cone. ~ \J= g4 ¢ %}

[2]
[2]
[2]

Working......
N\ 3, 3m sin A0 Sin b Ix _ ) el
. i =2
N sin (40) XN = 0.9090 h 33 5.”7‘-!) Sindp
L2 == e - <0 (10) . = 3‘-\:@.1
XN $i n(90) Sy (4a0) S =2
XN= 0.910 m 0.940 e
() 0-N0 m V=5 A (0.90) 2 (347)
(b) 3.1 Nz 2.74989 m>
A im
(c) 2.5 m°

(6 marks)
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Question 1

On a map three hospitals D, E and F are located as shown below.

Hospitals D and E are 520 metres apart. Angle DEF = 108° and EF = 870m.

(a)Find the distance between hospitals D and F. [3]
(b)Find the angle EDF . [3]
Working......
|43.20, 870
Q} Q1:b1*c1"2.0~5608/\ b".[.‘l_ﬁ-_ $in X
&% =520? + §70% - 2(529)(§79)(1%106) o156 £ 570 = Sin X < NY3Z
A= 1021300+ 274598574 143,20 4580
a* = 13006838577 sin x= @723
N A sSnt s
Oue W3 lom

(@ _ PF= W3.720m

(b) DéF:L\\o.’b?"

(6 marks)
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Triangle DEF is such that DE is 14cm, angle DEF is 57° and angle DFE is 32°.

(a) Sketch the triangle writing in the side length and angles. 11
(b) Find the length of DF. [3]
(c) Find the area of triangle DEF. [2]

(b)__ DF=72wun

© A=15348cm”

(6 marks)
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Question *

The diagram shows triangle PQR with PR = 24mm, QM'= MR and PRQ=40°. M is

the midpoint of PR.
/ diagram not io scale
P R
'\.‘(\F r\/\X“\(J\
.
(a) Write down
(i) the size of angle QMR,;
(i) the length of RM;
(ii) the length of QM. ' [3]
(b) Calculate the length QR. [3]
« \2
/\/\ Sin \OO;<5V\ H0
e V2 S 1O - 12 = SinHoT X
\T m sinviv
4o i @ Xz 1$.39 m
% M
O b

(i) V7
(i) |2 mm
(b) QR=\6- PArm

(6 marks)
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Question
=~ DAY
a) Graph the line y+2x+4 =0, that cuts the x-axis at A and the y-axis at B.
b) Find the area of the triangle AOB

c) Find the angle <0AB (to 3 s.f.)

Rrol PNW AU O
|

< e >
-6 -5 -4 - -g_-!L_ 1 2 3 5 X
239
5 -
S
L N L
v
Write answers here
Working...... A 7 O A= _"Z AN +on (X): __;_\__: __q’y__q
n 2
== 72 u
A= 3 Y= %-an“‘( (,)

‘4 @ X= L3y’

(6marks)




¢ INTHINKING

‘D www.inthinking.co.uk

Y= -xx
a) Graph the line D : y+x-1=0 in an x-y coordinate plane.

Questio

b) Find the distance between the point P(4,0) and the line y+x-1=0
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Write answers here
Working...... 50h
(@) sin 19)= 5}

(@) ¥oogned ¥

(b) 2 0\ uniYs
(6marks)
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Question
Find the point of intersection of the given 2 lines:
=2%-b S IS
LineD: 2y-4x+12=0 NE LineR: y+5x+6=0
i) Using the GDC ii) Graphically
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Write answers here

i. (0/'(9)
i (0,-6)

(6marks)
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Cocy B - Question 3

— A A x%eb?1¢?-2abcos A
IMH \:W./ X% = 2002+ 3502 -2 200)(350)(cos 12)
_W0N i N%S\ /wmoB = 2,500 ¥ 524444230
2K / AN X% = 214944.923)
Im....* - N J/L‘w AT A |
e X= 4463, 2m
: P =200 M ¥ 350m 4 413, b2 m .
o ¥ Noeis=T600 L, [p=1013,b7 m)
IMH MOX= 2.5 peapte/m | -
_V f >| N9,om50 i o )35 ABC
l_._V._H Qoovammov?::\& 200 | My b2
R __w>- 324s1,43 m?) S x s
siA x _.:eu b2 = sin 17200
i C. 71%,000 peoghe _ [y %Es.,ml/ M4 HL3.p7
32, 4S1. 43 m?2 ‘ / Sin x = 0,209

lnm _1_%0 Yhis_doesn't brealk ﬁ)& -,mmigajm#. X= sin”! (0:399)
£3 [x= 13,50
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" CA) Volume o ony Friom

Loh Cah T
(®) mn(é‘) :&% - oveo. oF e+ height

AC = fan(Hb) from pacy (v) \ 2D

Ac = B0 - @4}\%)(!203
( AC:O\S.Z) mon ) _ \,_‘q?);.\ = \@ .

oo Ok Upe SO =R e
=\1%1 & \ 2 27 °

Sin@tﬂ—‘- %23
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